Problem 1.(30 points) Give the products for the following reactions. If there is more than | slep,
just give the final product. If no reactions occur, state so. Show stereochemistry where
appropriate,
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Problem 2. (40 points) How would you carry out the following transformations.
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Problem 3. (20 Nﬁ#ﬂs} Determine the structure of the compound that has the molecular formula
CH,.0 whose spectrum has the following resonances.

81.2 (triplet, 3H) & 2.5 (quartet, 2H) 6 2.0 (broad, 1H)
6 4.8 (singlet, 2H) & 7.2 (doublet, 2H) i 7.4 (doublet, 2H)
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Problem 4. (10 points) What is the product of the reaction of 4 x CH,CHO with LiAlH, in ether
before the protic solvent is added?
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